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ﬂ State if the two triangles are congruent. If they are, state how you know.
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ProvE : A ABC = AADC

STATEMENTS REASONS

Find the length of an arc with radius of 8” and a central measure of 36°.
Find the area of the sector.
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Complete the following proofs ating A s
or AA
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C given
Given: ,—A__E = CB LABD = /CBD | 5.
DB bisects £ZABC. 6
/BAD = ~£BCD R Pl Y T A
Prove: AABD = ACBD e
8. Is AD = CD? Why? \&
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LESSON PRACTICE 25A

A B
Given: BD bisects £ABC and ZADC.

Prove: £BAD = /BCD

D C
STATEMENTS REASONS
¥7 S given
18. = definition of a bisector
109. = definition of a bisector
20. = reflexive property
2% = ASA postulate
22 = CPCTRC
D STATEMENTS REASONS
F
E 23. given
o e e 25.
H
26. e | given
Given: Eis the midpoint of FG 27
DG || HF S e alternate interior angles
Prove: /GDE = /FHE 28. =
e vertical angles
29, =
B, o ASA postulate
30. =
P L b CPCTRC
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LESSON PRACTICE

Find the square root and check.

1. \/X2+12X+36 2. \/;2+14X+49

3, \/4x2+ 4X + 1

Divide and Check.

4. X+3 X2 +10X + 21 5. X+2| X2+ 7X+10

6. X+1/X2+7X+6
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LESSON PRACTICE 24B

7. X+3/X%+8X+15 8. X+4[X2+9X+20

9. X-21X2+X-6

Challenge.

10. X-21X3-5X2+11X-10 11. X-31x3+%x%-19X + 26
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SYSTEMATIC REVIEW

Find the missing factor. Build if necessary.

1. X+ 114X2 + 10X + 1 2. Check #1 by multiplication.
3. 2X + 114X% + 6X + 5 4. Check #3 by multiplication.
5. X + 4lx% + 9x + 20 6. Check #5 by multiplication.

Find the square’s factor, or root.

7. VX +2X+1= 8. Check #7 by multiplication.

Simplify. Write exponent solutions on one line unless otherwise directed.

5
9. x%3 (v)6 (vA)(Y°) = 0. % -
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SYSTEMATIC REVIEW 24C

Use only positive exponents in the answer for #12.

-2

1. X3 x 2+ x*= 12, 2% ' - 3::1 +4x Y1 =
Solve.
13. .234x .21 = 14. 540 = .15 =
15. (-7)(-9) = 16. |[4-8+1|=
Add.
17. 6X%-3X+2 18. X2 +4X-8

+ X2 +5X-1 + X2-4X-9

19. What are the factors of 97?7

20. Which two operations are commutative?
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SYSTEMATIC REVIEW

Find the missing factor. Build if necessary.

1. X+112X2-X+10 2. Check #1 by multiplication.
3. X+313X2+11X+6 4. Check #3 by multiplication.
5. X +413X2 + 10X - 9 6. Check #5 by multiplication.

Find the square’s factor, or root.

7. IX2+8X+16 = 8. Check #7 by multiplication.

Simplify. Write exponent solutions on one line unless otherwise directed.

4
9. (A% B7 B3)2(A%) = 10, —tm
( 2% i
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SYSTEMATIC REVIEW 24D

Add.

296

11.

15

7.

18.

19.

20.

586 x 1.5 = 12, 138 235=
L (7)-9= 14. 110 = 2 - 8

7X2 + 4X - 1 16. X2 +11X + 5
_2x2 +3X + 6 + X2 8X - 6

What are the prime factors of 216?

Which two operations are associative?

Isaac went for a brisk 24-mile walk. Swinging his long arms, he was able to
walk six miles per hour. How long did it take him to complete his journey?

The next day he was a mite tired. He went for the same 24-mile walk. Swing-
ing his weary arms, he was able to walk only three miles per hour. How long
did it take him to complete this journey?
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